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import sys
sys.path.append("statlib")
from survival import Kaplan_Meier_survival

Kaplan_Meier_survival(time, event, verbose=True)
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import numpy as np

Group = np.array([1l, 1, 2, 2, 1, 1, 2, 2, 1, 2, 2,
1, 1, 2, 1, 2, 1, 2, 1, 2, 2, 1, 1, 1D)

Event = np.array([1, 6, 1, 1, 0, 0, 1, 0, 0, 0, 1,
e, 1, 1, &, 1, 6, 6, 1, 0, 1, 0, 0, 0])

Time = np.array([2, 20, 5, 1, 3

8! 8! 3’ 7! 3! 61 2’ 5! 4! 2’
event = Event[Group==1]
time = Time[Group==1]




import sys
sys.path.append("statlib™)
from survival import Kaplan_Meier_survival

a = Kaplan_Meier_survival(time, event)

time truncate p P SE
0 1.0 1 1.000000 1.000000
1 2.0 ® 0.933333 0.933333
2 2.0 ® 0.928571 0.866667 0.087771
3 2.0 1 1.000000 0.866667
4 3.0 1 1.000000 0.866667
5 3.0 1 1.000000 0.866667
6 3.0 1 1.000000 0.866667
7 5.0 1 1.000000 0.866667
8 6.0 1 1.000000 0.866667
9 7.0 0 0.857143 0.742857 0.137109
10 11.0 1 1.000000 0.742857
11 11.0 1 1.000000 0.742857
12 13.0 ® 0.750000 0.557143 0.190897
13 15.0 1 1.000000 0.557143
14 17.0 1 1.000000 0.557143
15 20.0 1 1.000000 0.557143
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Kaplan-Meier Survival Analysis
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event = Event[Group==2]
time = Time[Group==2]
a = Kaplan_Meier_survival(time, event)

time truncate p P SE
0 1.0 ® 0.928571 0.928571
1 1.0 ® 0.923077 0.857143 0.093522
2 2.0 ® 0.916667 0.785714
3 2.0 0 0.909091 0.714286 0.120736
4 3.0 ® 0.900000 0.642857 0.128060
5 3.0 1 1.000000 0.642857
6 3.0 1 1.000000 0.642857
7 4.0 1 1.000000 0.642857
8 5.0 ® 0.833333 0.535714 0.144758
9 8.0 O 0.800000 0.428571 0.150316
10 8.0 1 1.000000 0.428571
11 10.0 1 1.000000 0.428571
12 12.0 ® 0.500000 0.214286 0.169139
13 14.0 1 1.000000 0.214286
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